Name

Quiz Topics 15


1. 
Find the following values (Given that the P(Z<1.2) = .8849): (This incorrectly said 1.5 before)
a. P(Z < -1.2)

b. P(Z > 1.2)

c. P(Z > -1.2)

d. P(-1.2 < Z < 1.2)

e. P(Z < -1.2 and 1.2 <  Z)

2.
Assuming that the parameters for a particular variable are ( = 84 and a ( = 15 find the following probabilities (calculate by finding the associated Z-score and then the probability): 


a. 
P(x < 75) = 


b.
P(x > 75) =

c.
P( 75 < x < 93) =


d.
P(x > 93) = 

_____3) What is the standard deviation and mean represented by the standard normal curve?

A) σ = 0 and ( = 1


B) σ = 0 and ( = 0


C) σ = 1 and ( = 1


D) σ = 1 and ( = 0

_____4) One standard deviation from the mean occurs on the normal curve occurs where


A) the curve  is at its peak


B) the curve changes concavity (turning point)


C) the curve approaches the x-axis


D) the curve approaches the y-axis

_____5) All of the following are true regarding the normal curve except

A) the normal curve is symmetric.
B) the area underneath a normal curve depends on the mean and standard deviation being represented.

C) the normal curve can be used to find probabilities. 


D) the normal curve is used to represent numerous natural probability distributions

6) 
Professor Bill gives a test where the average is 81 with a standard deviation of 8.  

 
a) Find the Z-score for test grade of 99

b) What proportion of students score above a 99 on Professor Bills test?


c)  What Z-score does a student need to get to be in the bottom 25 percent of the class?


d) What test score does a student have to get to be in the lower 25% 


e) If Professor Bill gives an A for any test grade better than 92, how many A’s would you expect if 1000 students took the test.
